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https://www.100test.com/kao_ti2020/498/2021 2022 _OG10 E8 A
F AD _E6 B3 95 c86 498387.htm 48. The golden crab of the Gulf
of Mexico has not been fished commercially in great numbers,
primarily on account of living at great depths-- 2,500 to 3,000 feet
down. A. on account of living B. on account of their living C.
because it lives D. because of living E. being they live 100 I [ 00 [,
OO000000000B,EO 2.00 : (becaused O 0O ) O O
O 0O00A,DO A.because U O U OO O B. on account of / because
ofn==000000000000000 C.Because [ on
account of / because of because, which appears in C and E, is
preferable here since because can introduce a complete subordinate
clause explaining the reason why the golden crab has not been fished
extensively . C, which uses because and it as the singular subject of a
clause, isthe bestchoice. (U U U OO OO OOOOOO)3.00
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